[ Efficiency vs vertpos |
~ 0.7
£0.09
g
20.08
(8]
§0.07
QL
£0.06
0.05,
0.04
0.03
0.02
0.01

10
1.1

.................................................

A

Iy

Ratio

+

iy

B s e AL U RAAAF RN RARRN RARRN LARLE RRRRN RRRR)

0.9

0.8 . .
1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_TT _original

Effici —e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24
iclend _, DQM_TT__mod_modelsdeep_somethingbetter

..............................................

.........................

%835 20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
2.0.09
S
#0.08
£0.07
3
£0.06
Q
o
£0.05
3]
0.04
0.03
0.02

Y RRTE 5 S

Sim. PV z (cm)



	Contents
	Page 1


